Unit B jeson# é/@{@

/007;2 03 #/cja)abcj 3,57 /0

) P77}

/C/) s y 4 3,_';-‘?(70
\7‘ﬁ_/
N
3 VAR s
\\\ .:'_'p("'x)
—if 1 y=-5t9
& a) g/: \"Z-l' 3 Y'\écLﬂm_va b) Ij,‘: 7:2'-—3 rec Sl‘u_ph
b\ue. 5”143"'1 s 3-.— —'pCvC) L)lu.egra_ph s %:-“(2(7()
= -{zr3 = —(«"-3
L =
C) red graphis y ={x +3
b(u{jmpﬁ Yo Y= - £
(3,"—' - (J';? 4—5)
AT
3 red Sr*a_ph blue 6|~a_q:‘\ TS tg=‘PC‘7Q
Q) =x-3 = (-x0-3
% iz
b) L&: A t o g,:_\[(‘ﬂahl
3'—'— V—x+a
C‘,) %: N -2 = m - o
g—_ % -2 i
. ) t({,-—C*D (Y-

= (—x-H)"
= [ -1( 'X-+‘+)Tz



UnitH lessond
pﬁ/gos :ﬁ:-\‘j’} 7/ [O -

cb .gew ar- g(-x), veflection.

ls In y-axiS so y-intteeph
'S m\‘a;,rta,/d’
Co,—4)

.ﬁm j,-——.oﬂcyc)) refLlection

(5 M X=cr)ls So qc-:\mfeme_ﬁ rs Mhlaran?
(2, ).

' | |
a) {Cx): D: i;:c__ek}) R - ig,e’uﬂ

b= %C— 7 ¢ D: JxekRf K- Z%_é:—}?\z

. "gb\b: D= g_%elﬁ, K- T%C—:'P&




O

Unit 4 lesson 4
/ K0 D # 7/ /0 -
7.0) fin) = = 4x
ff?r)“ - (7( 4x) z=0, x=4

"‘761';{

K(-x) {x) "/( x)

fj’ (—-x)

b %(;(): 7~ =

a(z—4) =0

a=1 so ueﬁ‘ex/s atx=2
(2)= 75— 4(=)
= 4-¢

-

g 1% (}/ —})
=4 (A)
gL {T;)L aité(e’.(} (A

EO 05 = (0,0
Lfo) = (4,0)

Q) —,gc-x) = X

ngx) > %-ird’ is Myvarrasdt

ink's are ‘nuarrent

‘;-y CQ\ "D = ('? 4)

%)?ﬁf) /“&7[/{:’(,7"'—20

"M/—/S
: %% 2097
’-},o Lo
(2,4) = (-2,- 4)

Co,0> , (4,0)

(o,0).




Uar++H '69500 4 pg, @ fg

%,go& “/0
O 2 zﬂ[n’)": [t b) }ﬂ(;a:m 5 VJ? eﬁiﬂfgﬁd
e o .
R Ao R e TG AN, 4

A

o) Dﬂ(ﬂi D: fxeK/xz"f}- u
| K: f#é}?/yzcﬂ
B ‘Tﬁ[@.-’.-D‘ Jxerlxz -4
O | K: j.éﬁfaurf-oz.
f[?;r).' Dt FxeR [x<4}

R ngﬂ/é{,zcﬁz-




